Gasoline Vehicle

DIRECTION SELECTOR - SINGLE CABLE

- Includes ltems 2 - 33

1

Top of Seat
Support Panel

Service Parts Manual

Page G-1



| Gasoline Vehicle DIRECTION SELECTOR - SINGLE CABLE |

When ordering parts, please specify the model and serial number of the product.
* Indicates a component that is not available as an individual part.
G** Indicates consult Customer Service Department for additional information.

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTy.
1 72721-G01 DIRECTION SELECTOR ASSEMBLY (INCLUDES ITEMS 2 - 33) .....cccovcvereenne 1
2 74456-G01 DIRECTION SELECTOR BRACKET WITH BUSHING.........cccccoovirnrineenn 1
3 70233-G01 DIRECTION SELECTOR SHAFT ......ooiiiireee e 1
4 72738-G01 DIRECTION SELECTOR CAM .....ooiiiiie ettt 1
5 14390-G1 LOCK NUT, 3/8 - 24.....eeeee sttt s e s 1
6
7
8 72724-G01 NEUTRAL LOCK PIN ...ttt e s 1
9 72733-G01 COMPRESSION SPRING, 3/8" X 5/8" LG....ooerieeirreerrererscre e 1
10 72729-G01 NEUTRAL LOCK BRACKET ...ttt 1
11 00734-G2 LOCK NUT, 1/4 - 28.....eeeee ettt e e e 1
12 28574-G01 EXTENSION SPRING .......oo ittt s e s 1
13 72732-G01 BALL STUD ...ttt s s e e e s e 1
14 00734-G5 LOCK NUT, #10 - 32, ..ottt 1
15
16
17 72736-G01 MICRO SWITCH ...t 1
18 01062-G01 SCREW, #4 - 40 X 1" LGi.oiiriiiii et e e 2
19 00559-G1 WASHER, #4 ...ttt e 2
20 00565-G1 LOCK WASHER, #4 ...ttt e e 2
21 00526-G2 NUT, #4 - 40 .ot e s e e 2
22
23
24 73290-G03 REVERSE WARNING BUZZER........cccoiiinei e 1
25 01063-G01 SCREW, #6 - 32 X 3/8" LGi...ccveireriererrecerreserr et 2
26 25978-G345 18 GA WIRE (RED 7"t 1
27
28
29 72734-G01 PUSH / PULL SHIFTER CABLE........oocoriiirie e 1
30 25727-G01 CUP WASHER ..ottt e e 4

Service Parts Manual Page G-2



